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Directions: 
Which of the phrases (a), (b), (c), (d) given below each 
sentence should replace the phrase printed in bold to 
make the sentence grammatically correct? If the 
sentence is correct as it is, mark (e) ie ‘No correction 
required’ as the answer. 
 
1) Ravi has been demanding a lot more marks, doesn’t 
he ? 
a) hasn’t he?  b) isn’t he? 
c) isn’t it ?  d) No improvement 
 
2) Stocks worthy o f rupees one lakh were destroyed in 
the fire which occurred last night. 
a) Stocks worth 
b) Stocks worth of 
c) Stock worthy 
d) Stock, off worth 
e) No correction required 
 
3) To disparity between the earnings of the poor and 
the rich has widen in the last few decades. 
a) has widened in 
b) have widened In 
c) has widened on 
d) have widen in 
e) No correction required 
 
4) He came in quietly so that not to wake the child. 
a) as for  b) so as 
c) as if   d) No improvement 
 
5) His reasons can be good, is it not? 
a) Can they?  b) Isn’t he ? 
c) Cant they?  d) No improvement 
 
6) As I was new to the place, I felt like a fish in water. 
a) felt like a fish in the water. 
b) felt like a fish with water. 
c) felt like a fish out of water. 
d) No improvement 
 

7) Our team lost the football match, although the boys 
put in a very good performance. 
a) put off  b) put on 
c) put up  d) No improvement 
 
8)  Hardly  nothing  was  offered  to  the  victims  of  the 
earthquake. 
a) Hardly something 
b) Hardly anything 
c) Hardly little 
d) No improvement 
 
9)  Anyone  with  a  little  interest  in  sports  is  bound  to 
familiar with Sachin Tendulkar’s name. 
a) binding to be familiar 
b) binding to familiar 
c) bound to be familiar 
d) bound to have familiar 
e) No correction required 
 
10) The battle to rage for some time. 
a) is raging  b) has been raged 
c) had been raging d) No improvement 
 
11)  William  Shakespeare  is  the  greatest  of  all  other 
writers. 
a) all the  b) any other 
c) the other  d) No improvement 
 
12) You would have succeeded if you acted upon my 
advice. 
a) have acted  b) had acted 
c) would have acted d) No improvement 
 
13) She has not written to me or to some of her other 
friends since leaving the country. 
a) none of her  b) one of her 
c) any of her  d) No improvement 
 
14) They were then asked to write a short account of 
what they have seen. 
a) had seen  b) were seen 
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c) had been seen d) No improvement 
 
15)  The  surface  of  the  road  has  got  severe  damage 
during the heavy rains last week. 
a) has severe damage 
b) getting severely damaged 
c) is been damaged severely 
d) was severely damaged 
e) No correction required 
 
16) I had liked her since the first time I had seen her. 
a) did see  b) have seen 
c) saw   d) No improvement 
 
17) Being injured, one of the migratory birds have not 
flown south. 
a) have not flown b) have not flew 
c) does not flew  d) has not flown 
e) No correction required 
 
18) We must realize that learning from mistakes is an 
important part of life. 
a) mistakes has an b) mistake are a 
c) mistakes are a d) mistakes are an 
e) No correction required 
 
19) She and Dad would has had loved Amit. 
a) has loved  b) have loved 
c) to loved  d) No improvement 
 
20) This milk has got a funny taste — it can have gone 
sour. 
a) may have gone sour b) can go sour 
c) had soured  d) No improvement 
 
21) Will you type these letters now ? 
a) Could  b) Can 
c) Shall    d) No improvement 
 
22) It has being too dangerous for too many people. 
a) to be   b) become 
c) be   d) No improvement 

 
23) You wont tell them what has happened, wouldn’t 
you ? 
a) wont you  b) isn’t it 
c) will you  d) No improvement 
 
24) The police are tried hard for tracking up the 
robbers. 
a) Trying hard to track up 
b) Trying hard to track down 
c) Tried hard to track in 
d) Tried hard for tracking down 
e) No correction required 
 
25) Write down the address lest you may forget. 
a) you may not forget 
b) you cannot forget 
c) you will forget 
d) you should forget 
 
26) He is addicted to smoke. 
a) addicted to smoking 
b) used to smoke 
c) addicted of smoking 
d) addicted with smoking 
 
27) We admire him attempting to climb the summit in 
such a bad weather. 
a) his for attempt to climbing 
b) him for attempt of climb 
c) his attempt of climb 
d) his attempting to climb 
e) No correction required 
 
28)  The  season  being  very  favourable,  he  seems  to 
have been enjoyed the vacation. 
a) be enjoyed 
b) have enjoyed 
c) have been enjoy 
d) had been enjoyed 
e) No correction required 
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29) The driver was dazzled by the bright light of 
approaching . 
a) twinkled  b) flashed 
c) glowed  d) No improvement 
 
30)  Sudha  was  determined  to  get  a  better  job,  in 
pursuing higher studies. 
a) pursuing higher 
b) by pursuing higher 
c) in the pursuit of high 
d) to pursuit higher 
e) No correction required 
 
31)  One  of  the  key  competencies  for  managers  are 
ethics and the ability to motivate others. 
a) Within the key competence 
b) Including the key competencies 
c) Beside the key competency 
d) Among the key competencies 
e) No correction required 
 
32) The loud and incessant chatter worries your father 
who is trying to concentrate. 
a) aggravates  b) annoys 
c) irritates  d) No improvement 
 
33) Its high time that you go home. 
a) have gone  b) should go 
c) went   d) No improvement 
 
34) The loud and incessant chatter worries your father 
who is trying to concentrate. 
a) aggravates  b) annoys 
c) irritates  d) No improvement 
 
35) Man is the only animal who can talk. 
a) which  b) whom 
c) that   d) No improvement 
 
36) The grim Job market has taken its toll on students, 
many of those had hoped for a much better future. 
a) many of which b) several of those 

c) many of whom d) much of whom  
e) No correction required 
 
37)  He  did  not  take  up  the  project  because  he  was 
fearful to fail. 
a) feared to fail  b) fearing of failure 
c) afraid of failing d) afraid in failing 
e) No correction required 
 
38)  When  the  Inspector  of  Police  said  this,  we  knew 
whom he was eluding. 
a) intending  b) referring to 
c) hinting  d) No improvement 
 
39) Many workers were being held hostages. 
a) held to be hostages b) held as hostages 
c) held like hostages d) No improvement 
 
40)  With  rising  prices  people  find  it  difficult  to make 
both the ends meet. 
a) both ends  b) the both ends 
c) both their ends d) No improvement 
 
41)  Since  the  deadline  has  been  changed  from  next 
week to this Thursday you should give this work 
priority. 
a) priority this work 
b) prioritised this work 
c) hot give priority this work 
d) be given this work priority 
e) No correction required 
 
42)  The  NYC  building  at  New  York  City  is  as  high  as 
every other building in the United States of America. 
a) high than every other building 
b) as high as every other building 
c) higher than any other one 
d) No improvement 
 
43) Is respect really preferable than money ? 
a) preferable to money ?  
b) preferred, or money ? 
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c) preferable than money ? 
d) No improvement 
 
44) They are migratory workers from another country. 
a) immigrant  b) itinerant 
c) emigrant  d) No improvement 
 
45) Many workers were being held hostages. 
a) held to be hostages 
b) held as hostages 
c) held like hostages 
d) No improvement 
 
46)  They  could  not  admire  his  bright  performance 
because of they dislike him. 
a) because of their disliking of 
b) because of their dislike 
c) because they dislike 
d) as they have disliked 
e) No correction required 
 
47) She was uneasy because she never be on a plane 
before. 
a) had never been b) never been 
c) is never been  d) No improvement 
 
48) Seeking to harm someone in return for a perceived 
injury 
a) Affable  b) Cordial 
c) Vengeful  d) Benign 
 
49) They only work when they have no money. 
a) When they have no money, they only work. 
b) they only work 
c) work only when. 
d) No improvement. 
 
50) I.T. experts may have to stop hunting for better job 
opportunities as these are not so easily available now. 
a) must have been hunting 
b) may be stopping the hunting 
c) should have to stop hunt 

d) might have to stop hunting 
e) No correction required 
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